5 10i= B
6. 250m plus 450m = TJO0wa
36
X5

180

8. Which rectangle has the (b)

largest area?

(o) RS T

ST |

q. 4) 48
=

10. Arrange these numbers in order of
size, starting with the largest:
462, 624, 642, 2&6.

11.25:4= 5 R 4
12.34-4)+6=_5

13. There are 46 apples in a box. LH;;?-
B

How many apples are -

in 5 boxes? i3

14. By how many centimetres is
4m 37cm less than 5m? £3cm

15. A paint tray hnldnts.
- Lucy filled as many trays as she

r '._‘_c’eu[d with 33 pots.

~ How many pots were left? A
16 8855 | have(€5, €2 and 200
@8 How much more do [need

W o buy the ball? 1,

[

2. 8x5=400
. Share 28 pencils among 4 children.
28 + 4= ST
. % of 32="4
. 130, 135, 140, 4s, (501, 58"

. 3128
G R S

.3 < . True or false? Ttue |

: 5 IR iR
. What fraction (}f the&“““
cars are red? =4 % 55 625

. What month is 14/07/2015?
d w_hj =
. 350ml + 350ml + F(fc= 1 litre
0 SN — 48
:2%8=16s016+2=1%
8x2=16s016+8= 0

Admission to the zoo Adult: €16 Child: £12
Family tickets: 2 adults + 2 children: €47 |
2 adults + 3 children: £51-50

[ 2 adults + 4 children: €55.50

13. How much would it cost for 1 adult
and 2 children to go to the zuﬁ?ﬂ.}.ﬂl f

How much would each of these savle h_g_' I
buging a family ticket instead of paying ! 1
separately? :
4. A family of 2 adults and }
2 children: €]
15. A family of 2 adults and
3 children: ¢ [¢ T
4 children: £ 24 50



rm to

F 4. Which i@%aﬁmﬁ’s a
| isparallel? ¢t b =

c
. b or50- 5 e
6. What is the value of the B 7.8x6=48s048+:8=08"
underlined digit: 456? {—'il:tlj /ﬁ, tens i B A :{
7. 120 minutes = 2 hours ‘B 8. How many days in February
8. 47 H: _inaleap year? 2
X 9 ) (qﬁ.}zs x15=(25x 10+ (25%x & )
_d35 f§ 10.22:7=_3 R_}
9. 93+ 7= B2H R B0 1. fxxj_ 54
10. Fill in the correct sign (<, = or =), i fz12 % of a number is 9.
% — % i What is the number? |2

11. (4 times 6) + 24 = Z

@ZSOmI ess than gl

13. Séamus is Tm 46cm in hmght He is | :
23cm smaller than his friend Ciardn.
How tall is Cigrdn? IU-i d3cH

: [ | bed |
13. What is the area of the play area in

small squares? <00 oo, 00
T

14 There are 45 sheep in a field.
v many legs are there altogether
field? 50 {| 14. What is the difference in area

r hﬂhdﬂys last for 63 days. f between the patio and the

el ) st ; flower bed? o &
weeks does it last? ¢/ Gl
0 N 15. What is the mm;lgﬁag;@‘ the gaﬁtszg ,‘5
ﬁnd the plag area? 35 s




3. 200ml plus 450ml = (5000 <
4, 23‘; metres = SL5C cm
5. What time is this in analogue form:
B (0 o z 14.5><?=35m35+5=:z_
6. 1022 =W : ?X5=35$o35+?=__z

7. Tick /] the more likely event. 13 How many faces has g sphere? _J

|1)" There will be no school in July. 16. 140 minutes = 7 hours

|| There will be school in July. 20 minutes

8. Round 665 to the nearest 100. X | 17. E:Lt;etrhﬁse dggmgli ogéhe
= ine: U4, 0-4, 0-6.

c[' | Lff_?_ o -

1 I l | 1 1 | |
18. Which is lighter, Zkg or 5504? 250y
19. 6 x 8)+ 35 = 75

20. 7 x N = 49

Problems

| 21. A farmer divided 24 nuts between 8 goats.
i 5 How many nuts did each goat get?
| 22. A man at the airport is carrying 3 packages
: weighing 2kg 2509, 3kg 560g and 1kg 450q.
_ How much weight altogether is he carrying? 7770 (/-
M L) : v pia
| 23. Mrs Smith’s hens laid 47 eggs. She puts them
! into boxes of 6. How many eggs was she short
to fill the last box? /[

| 24, When | subtract 453 from a certain number
| get 153. What is the number? £ (L

25, There were 35 boys and 25 girls in a club.
" Theg were made into 6 groups.
'; W many were in -i_E_t.':Eh gmuip? LQ_




